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I. Multiple choice        (2 points each=18 points) 

Choose the most suitable word or phrase for each space. Circle the correct answer. 
 

0. Have I ___D____ you about how Kathleen  is getting on at college? 

     A  said   B  explained    C  answered     D  told 

 

1.  Colin doesn’t just study English.  He studies __________ subjects as well. 

A. other     B. another    C. others    D. alot 

 

2. The first person to arrive is  Mr Wilde,_________ lives in Paris. 

A. that      B.  who    C. what    D. which 

 

3. If enough people _______  for it, the class will start at 9 a.m. 

A.  were asking   B. asked.    C. had asked    D. ask 

 

4. He has been learning French ____ his own for a year 

A. by.    B. on     C. in.    D for  

 

5.  She normally catches ______ , but twice a week she goes to work later. 

A. an earliest train    B. a more early train   C. an earlier train    D. a most early train. 

 

6. I think people _____ usually very understanding. 

A.  is      B.  does.    C.  do     D.  are 

 

7.  Every day three people get together ________French. 

A.   to learn.   B.   for to learn   C.    for learning themselves   D.  for learn. 

 

8. He has been studying Mathematics _______2011. 

A. for     B. from   C. since    D. in  

 

9.   ___ Mondays and Fridays I go running. 

A. on     B. in      C.  at      D.  every 



II.  Word formation        (4 points each=20 points) 

Use the word given in brackets to form a new word that fits in the space in the same line.  

Write your answers on the lines below. 
 

EXAMPLE: 

It's a  marvellous (MARVEL) idea to teach English to children at an early age.     

 

England was named after a Germanic tribe called the "Angles", who settled in 1) ______(CENTRE), 

Northern, and Eastern England in the 5th century. A 2) _________(RELATE) tribe called the "Saxons" 

settled in the south of England. That is why that period of English history is called "Anglo-Saxon".  

For the 3) ________ (MAJOR) of this time, England did not exist as a united country. The Anglo-

Saxons lived in many small 4) _________(KING), which slowly united. The later countries of England 

and Wales were formed from the 5) ____(EARLY) Roman Britain. 

 

1._______________________________ 

2._______________________________ 

3._______________________________ 

4._______________________________ 

5._______________________________ 

 

 

III. Key word transformations      (4 points each=12 points) 

Complete the second sentence so that it has a similar meaning to the first sentence. Use up to 

six words including the word you are given. Do not change this word. 
 

EXAMPLE: 
 

I last saw her at my 21st birthday party.       since 

I haven’t seen her since my 21st birthday party. 

 

 

1.  Someone stole my car tyres last week.          

     My car tyres  …………………………………….………………………...   week 

 

2. “What about learning new vocabulary every day?”  suggested Daniel.   suggested 

    Daniel ………………………………………………….………..    new vocabulary every day.  

 

3. I must hurry up or I will miss the bus.       unless 

I will miss the bus …………………………………………..….………………………   
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